11/30/2020



LCHD Contract Bid Abstract

Contract No.: 04-2020

Project No.: County Maintenance CSAH 1, 5, 13, SAP 041-601-032, SAP 041-608-034

Bid Opening:

Common C		Project: County Maintenance CSAH 1, 5, 13 - CSAH 1, 5, 13 Patching				Engineers Es	timate			Central		Central Specialties Inc	
2021.501 MOSILIZATION LUMP SUM 0.02 \$120,000.00 \$2,400.00 \$138,500.00 \$370,000.00 \$3,400.00 \$165,113.50 \$3.2	Line No.	Item		Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
2 210.503 SAVINIG BITUMINOUS PAVEMENT (FULL DEPTH) LINFT 46 \$7.50 \$345.00 \$3.00 \$138.00 \$7.50 \$345.00 \$2.25 \$1.00	CSAH 1												
2 2 104-507 REMOVE AGGREGATE	1	2021.501	MOBILIZATION	LUMP SUM	0.02	\$120,000.00	\$2,400.00	\$138,500.00	\$2,770.00	\$170,000.00	\$3,400.00	\$165,113.50	\$3,302.27
200.000 TYPE SP 12.5 WEARING COURSE MIXTURE (2,B) TON 34 \$130.00 \$4.42.00 \$140.00 \$4.760.00 \$4.7	2	2104.503	SAWING BITUMINOUS PAVEMENT (FULL DEPTH)	LIN FT	46	\$7.50	\$345.00	\$3.00	\$138.00	\$7.50	\$345.00	\$2.25	ļ
2,000,000 TRAFFIC CONTROL LIMP SUM 0.02 \$50,000.00 \$1,000.00 \$4,050.00 \$8,514.00 \$50,000.00 \$1,000.00 \$4,050.00 \$1,000.00 \$4,050.00 \$1,000.00 \$1	3	2104.507	REMOVE AGGREGATE	CU YD	17	\$40.00	\$680.00	\$45.00	\$765.00	\$40.00	\$680.00		ļ
Total CSAH 1: S8,845.00 \$8,514.00 \$10,185.00 \$10,185.00 \$10,185.00 \$10,185.00 \$10,185.00 \$10,185.00 \$10,185.00 \$11,085.00 \$11,085.00 \$11,085.00 \$11,085.00 \$11,085.00 \$11,085.00 \$11,085.00 \$11,085.00 \$11,085.00 \$11,085.00 \$11,085.00 \$11,085.00 \$11,085.00 \$11,085.00 \$10,185.00 \$1	4	2360.509	TYPE SP 12.5 WEARING COURSE MIXTURE (2,B)	TON	34	\$130.00	\$4,420.00	\$140.00	\$4,760.00	\$140.00	\$4,760.00	\$175.00	_ ` `
CSAH 13 11	5	2563.601	TRAFFIC CONTROL	LUMP SUM	0.02	\$50,000.00	\$1,000.00	\$4,050.00	\$81.00	\$50,000.00			
11 2021.501 MOBILIZATION				Total	CSAH 1:		\$8,845.00		\$8,514.00		\$10,185.00		\$10,116.77
12 2104.503 SAWING BITUMINOUS PAVEMENT (FULL DEPTH) LIN FT 44 \$7.50 \$330.00 \$3.00 \$132.00 \$7.50 \$330.00 \$2.25 \$330.00 \$2104.507 REMOVE AGGREGATE CUYD 23 \$7.50 \$172.50 \$45.00 \$1,035.00 \$40.00 \$920.00 \$100.00 \$40.00 \$920.00 \$100.00 \$40.00 \$920.00 \$100.00 \$40.00 \$100.00 \$40.00 \$100.00 \$40.00 \$100.00 \$40.00 \$100.00 \$40.00 \$100.00 \$40.00 \$100.00 \$40.00 \$100.0	CSAH 1	3											
13 2104.507 REMOVE AGGREGATE CU YD 23 \$7.50 \$172.50 \$45.00 \$1,035.00 \$40.00 \$920.00 \$40.00 \$14 2360.509 TYPE SP 12.5 WEARING COURSE MIXTURE (2,B) TON 46 \$130.00 \$5,980.00 \$134.00 \$5,140.00 \$125.00 \$5,750.00 \$173.00 \$7.9	11	2021.501	MOBILIZATION	LUMP SUM	0.02	\$120,000.00	\$2,400.00	\$138,500.00	\$2,770.00	\$170,000.00	\$3,400.00	\$165,113.50	\$3,302.27
14 2360.509 TYPE SP 12.5 WEARING COURSE MIXTURE (2.B) TON 46 \$130.00 \$5,980.00 \$134.00 \$6,164.00 \$125.00 \$5,750.00 \$173.00 \$7.5	12	2104.503	SAWING BITUMINOUS PAVEMENT (FULL DEPTH)	LIN FT	44	\$7.50	\$330.00	\$3.00	\$132.00	\$7.50	\$330.00	\$2.25	\$99.00
15 2563.601 TRAFFIC CONTROL LUMP SUM 0.02 \$50,000.00 \$1,000.00 \$4,050.00 \$81.00 \$50,000.00 \$1,000.00 \$4,050.00 \$12.35	13	2104.507	REMOVE AGGREGATE	CU YD	23	\$7.50	\$172.50	\$45.00	\$1,035.00	\$40.00	\$920.00	\$40.00	\$920.00
Total CSAH 13: \$9,882.50 \$10,182.00 \$11,400.00 \$11,400.00 \$12,300.00 \$12,300.00 \$12,300.00 \$12,300.00 \$13,300.00 \$13,300.00 \$13,300.00 \$14,000.	14	2360.509	TYPE SP 12.5 WEARING COURSE MIXTURE (2,B)	TON	46	\$130.00	\$5,980.00	\$134.00	\$6,164.00	\$125.00	\$5,750.00	\$173.00	\$7,958.00
CSAH 5 CSAH 1: Same Sa	15	2563.601	TRAFFIC CONTROL	LUMP SUM	0.02	\$50,000.00	\$1,000.00	\$4,050.00	\$81.00	\$50,000.00	\$1,000.00	\$4,050.00	\$81.00
6 2021.501 MOBILIZATION LUMP SUM 0.02 \$120,000.00 \$2,400.00 \$138,500.00 \$2,770.00 \$170,000.00 \$3,400.00 \$165,113.50 \$3,300 \$120,4503 \$3,400.00 \$1,400 \$1,500 \$3,400.00 \$1,000.00 \$2,25 \$1,000.00							\$9,882.50		\$10,182.00		\$11,400.00		\$12,360.27
7 2104.503 SAWING BITUMINOUS PAVEMENT (FULL DEPTH) LIN FT 48 \$7.50 \$360.00 \$3.00 \$144.00 \$7.50 \$360.00 \$2.25 \$1 8 2104.507 REMOVE AGGREGATE CU YD 27 \$40.00 \$1,080.00 \$45.00 \$1,215.00 \$40.00 \$1,080.00 \$1,080.00 \$1,0	CSAH 5						•			<u></u>			
2104.507 REMOVE AGGREGATE CU YD 27 \$40.00 \$1,080.00 \$45.00 \$1,215.00 \$40.00 \$1,080.00 \$40.00 \$1,080.00	6	2021.501	MOBILIZATION	LUMP SUM	0.02	\$120,000.00	\$2,400.00	\$138,500.00	\$2,770.00	\$170,000.00	\$3,400.00	\$165,113.50	\$3,302.27
9 2360.509 TYPE SP 12.5 WEARING COURSE MIXTURE (2,B) TON 53 \$130.00 \$6,899.00 \$135.40 \$7,176.20 \$125.00 \$6,625.00 \$130.00 \$6,825.00 \$10 2563.601 TRAFFIC CONTROL LUMP SUM 0.02 \$50,000.00 \$1,000.00 \$4,050.00 \$81.00 \$50,000.00 \$1,000.00 \$4,050.00 \$11,386.20 \$12,465.00 \$11,400.0	7	2104.503	SAWING BITUMINOUS PAVEMENT (FULL DEPTH)	LIN FT	48	\$7.50	\$360.00	\$3.00	\$144.00	\$7.50	\$360.00	\$2.25	\$108.00
10 2563.601 TRAFFIC CONTROL LUMP SUM 0.02 \$50,000.00 \$1,000.00 \$4,050.00 \$81.00 \$50,000.00 \$1,000.00 \$4,050.00 \$11,386.20 \$12,465.00 \$11,465.00 \$11,465.00 \$11,465.00 \$11,465.00 \$11,400.00 \$12,365.00 \$11,400.00 \$12,365.00 \$11,400.00 \$12,365.00 \$11,400.00 \$11,400.00 \$12,365.00 \$11,400.00	8	2104.507	REMOVE AGGREGATE	CU YD	27	\$40.00	\$1,080.00	\$45.00	\$1,215.00	\$40.00	\$1,080.00	\$40.00	\$1,080.00
Total CSAH 1: \$8,845.00 \$811,386.20 \$12,465.00 \$11,400.00 \$10,185.	9	2360.509	TYPE SP 12.5 WEARING COURSE MIXTURE (2,B)	TON	53	\$130.00	\$6,890.00	\$135.40	\$7,176.20	\$125.00	\$6,625.00	\$130.00	\$6,890.00
Total CSAH 1:	10	2563.601	TRAFFIC CONTROL	LUMP SUM	0.02	\$50,000.00	\$1,000.00	\$4,050.00	\$81.00	\$50,000.00	\$1,000.00	\$4,050.00	\$81.00
Total CSAH 13:		<u> </u>		Total	CSAH 5:		\$11,730.00		\$11,386.20		\$12,465.00		\$11,461.27
Total CSAH 13: \$9,882.50 \$10,182.00 \$11,400.00 \$12,3 \$10,182.00 \$11,400.00 \$1						•							
Total CSAH 5: \$11,730.00 \$11,386.20 \$12,465.00 \$11,465.00		Total CSA	H 1;				\$8,845.00	1	\$8,514.00		\$10,185.00		\$10,116.77
Totals for Project County Maintenance CSAH 1, 5, 13 \$30,457.50 \$30,082.20 \$34,050.00 \$33,9 of Estimate for Project County Maintenance CSAH 1, 5, 13 \$1.80% 1 Project: SAP 041-601-032 - Minor Grading and Overlay CSAH 1 & 13 Engineers Estimate Duininck Inc Knife River Corporation - North Central Specialties I		Total CSA	H 13:				\$9,882.50		\$10,182.00		\$11,400.00		\$12,360.27
Project: SAP 041-601-032 - Minor Grading and Overlay CSAH 1 & 13 Engineers Estimate Duininck Inc Knife River Corporation - North Central Specialties I		Total CSA	H 5:				\$11,730.00		\$11,386.20		\$12,465.00		\$11,461.27
Project: SAP 041-601-032 - Minor Grading and Overlay CSAH 1 & 13 Engineers Estimate Duininck Inc Knife River Corporation - North Central Specialties I											•		
Project: SAP 041-601-032 - Minor Grading and Overlay CSAH 1 & 13 Engineers Estimate Duininck Inc Knife River Corporation - North Central Central Specialties I		Totals for	Project County Maintenance CSAH 1, 5, 13				\$30,457.50		\$30,082.20		\$34,050.00		\$33,938.31
Project: SAP 041-601-032 - Minor Grading and Overlay CSAH 1 & 13 Engineers Estimate Duninck Inc		% of Estimate for Project County Maintenance CSAH 1, 5, 13							-1.23%		11.80%		11.43%
Project: SAP 041-601-032 - Minor Grading and Overlay CSAH 1 & 13 Engineers Estimate Duninck Inc		1-											
Line No. Item. Units Quantity Unit Price Total Price Unit Price Uni		Project: SAP 041-601-032 - Minor Grading and Overlay CSAH 1 & 13				Engineers Es	stimate	Duininck Inc				Central Specialties Inc	
	Line No	Item		Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price

	Project: SAP 041-601-032 - Minor Grading and Overlay CSAH 1 & 13				Engineers Es	Ingineers Estimate		Duininck Inc		Knife River Corporation - North Central		Central Specialties Inc	
Line No.	Item		Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	
SAP 041	SAP 041-601-032 (CSAH 1 Minor Grading and Overlay)												
3	2016.601	QUALITY MANAGEMENT - THERMAL PROFILING	LUMP SUM	0.8	\$10,000.00	\$8,000.00	\$10,000.00	\$8,000.00	\$15,000.00	\$12,000.00	\$20,000.00	\$16,000.00	
		MOBILIZATION	LUMP SUM	0.76	\$120,000.00	\$91,200.00	\$160,000.00	\$121,600.00	\$122,000.00	\$92,720.00	\$165,113.50	\$125,486.26	
4	2104.503	SAWING BIT PAVEMENT (FULL DEPTH)	LIN FT	48	\$10.00	\$480.00	\$4.50	\$216.00	\$8.00	\$384.00		\$108.00	
6	2104.503	REMOVE PIPE CULVERTS	LIN FT	172	\$10.00	\$1,720.00	\$12.00		\$12.00	\$2,064.00		\$5,160.00	
7	2104.504	REMOVE BITUMINOUS PAVEMENT	SQ YD	6576	\$6.00	\$39,456.00	\$5.15	\$33,866.40	\$6.00	\$39,456.00		\$41,100.00	
9	2106.507	EXCAVATION - COMMON (P)	CU YD	5575	\$3.50	\$19,512.50	\$4.25	\$23,693.75	\$4.25	\$23,693.75	l	\$33,450.00	
11	2106.507	COMMON EMBANKMENT (CV) (P)	CU YD	7680	\$2.50	\$19,200.00	\$5.50	\$42,240.00	\$5.50	\$42,240.00		\$119,040.00	
13	2123.510	18 CU YD SCRAPER	HOUR	1	\$1,100.00	\$1,100.00	\$290.00	\$290.00	\$290.00	\$290.00	\$263.64	\$263.64	
14	2123.510	DOZER	HOUR	1	\$800.00	\$800.00	\$190.00	\$190.00	\$190.00	\$190.00		\$232.89	
15	2123.610	1.5 CU YD BACKHOE	HOUR	1	\$900.00	\$900.00	\$190.00	\$190.00	\$190.00	\$190.00	L	\$221.09	
16	2211.509	AGGREGATE BASE CLASS 5	TON	4395	\$15.00	\$65,925.00	\$14.15	\$62,189.25	\$16.00	\$70,320.00		\$74,715.00	
18	2221.509	SHOULDER BASE AGGREGATE CLASS 1	TON	6882	\$14.00	\$96,348.00	\$19.00	\$130,758.00	\$23.00	\$158,286.00		\$158,286.00	
20	2360.509	TYPE SP 12.5 WEARING COURSE MIXTURE (2,B)	TON	15944	\$56.00	\$892,864.00	\$54.75	\$872,934.00	\$59.00	\$940,696.00	<u> </u>	\$860,976.00	
22	2451.507	GRANULAR BACKFILL (CV) (P)	CU YD	100	\$18.00	\$1,800.00	\$20.00	\$2,000.00	\$25.00	\$2,500.00		\$5,342.00	
23	2501.502	24" RC PIPE APRON	EACH	2	\$600.00	\$1,200.00	\$850.00	\$1,700.00	\$850.00	\$1,700.00		\$2,311.72	
24	2501.502	18" CS SAFETY APRON	EACH	6	\$250.00	\$1,500.00		\$1,800.00	\$300.00	\$1,800.00	\$419.10	\$2,514.60	
25	2501.503	18" CS PIPE CULVERT	LIN FT	205	\$26.00	\$5,330.00	l	\$6,560.00	\$32.00	\$6,560.00	\$44.85	\$9,194.25	
26	2501.503	24" RC PIPE CULVERT CLASS III	LIN FT	84	\$60.00	\$5,040.00	\$80.00	\$6,720.00	\$80.00	\$6,720.00		\$10,872.96	
27	2502.503	6" PERF PE PIPE DRAIN	LIN FT	10	\$6.00	\$60.00	\$25.00	\$250.00	\$25.00	\$250.00		\$563.50	
28	2502.602	DRAIN OUTLET DESIGN SPECIAL	EACH	1	\$250.00	\$250.00	\$675.00	\$675.00	\$675.00	\$675.00		\$820.83	
29	2502.602	RELOCATE DROP INLET	EACH	1	\$450.00	\$450.00	\$400.00	\$400.00		\$400.00		\$567.12	
30	2563.601	TRAFFIC CONTROL	LUMP SUM	0.76	\$20,000.00	\$15,200.00	\$4,050.00	\$3,078.00		\$15,200.00	\$4,050.00	\$3,078.00	
32	2573.503	SILT FENCE; TYPE MS	LIN FT	73	\$5.00	\$365.00	\$2.00	\$146.00		\$146.00		\$146.00	
33	2573.503	SEDIMENT CONTROL LOG TYPE WOOD FIBER	LIN FT	60	\$5.00	\$300.00				\$186.00		\$186.00	
36	2575.505	SEEDING	ACRE	4.6	\$500.00	\$2,300.00			\$150.00	\$690.00		\$690.00	
34	2575.505	DISK ANCHORING	ACRE	4.6	\$80.00	\$368.00	\$65.00	\$299.00	\$65.00	\$299.00		\$299.00	
38	2575.508	SEED MIXTURE 21-111	POUND	143	\$1.05	\$150.15	\$1.00	\$143.00		\$143.00		\$143.00	
40	2575.508	SEED MIXTURE 25-142	POUND	207	\$4.25					\$641.70		\$641.70	
42	2575.509	MULCH MATERIAL TYPE 1	TON	9.2	\$225.00	\$2,070.00	\$135.00	\$1,242.00	\$135.00	\$1,242.00		\$1,242.00	
44	2575.601	TURF ESTABLISHMENT (MOBILIZATION)	LUMP SUM	1	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00		\$1,000.00	
45	2582.503	4" SOLID LINE PAINT	LIN FT	113411	\$0.05	\$5,670.55	\$0.06	\$6,804.66	\$0.07	\$7,938.77	\$0.064	\$7,258.30	
47	2582.503	4" BROKEN LINE PAINT	LIN FT	7550	\$0.05	\$377.50	\$0.06					\$483.20	
	Total SAP 041-601-032 (CSAH 1 Minor Grading and Overlay): \$1,281,316.45 \$1,333,019.76 \$1,432,149.72 \$1,482,393.06												
SAP 041-613-027 CSAH 13 Minor Grading and Overlay													
2	2021.501	MOBILIZATION	LUMP SUM	0.04	\$120,000.00	\$4,800.00	\$160,000.00	\$6,400.00	\$122,000.00	\$4,880.00	\$165,113.50	\$6,604.54	
5	2104.503	SAWING BIT PAVEMENT (FULL DEPTH)	LIN FT	24	\$10.00	\$240.00	\$4.50	\$108.00	\$8.00	\$192.00	\$2.25	\$54.00	

	Project: SAP 041-601-032 - Minor Grading and Overlay CSAH 1 & 13				Engineers Es	timate	Duininck Inc		Knife River C North Centra		Central Spec	ialties Inc
Line No.	Item -		Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
8		'E BITUMINOUS PAVEMENT	SQ YD	544	\$6.00	\$3,264.00	\$5.60	\$3,046.40	\$6.00	\$3,264.00	\$6.25	\$3,400.00
10	2106.507 EXCAV	ATION - COMMON (P)	CU YD	462	\$3.50	\$1,617.00	\$4.25	\$1,963.50	\$4.25	\$1,963.50	\$6.00	
12			CU YD	683	\$2.50	\$1,707.50	\$5.50	\$3,756.50	\$5.50	\$3,756.50	\$15.50	\$10,586.50
17		GATE BASE CLASS 5	TON	386	\$15.00	\$5,790.00	\$19.40	\$7,488.40	\$16.00	\$6,176.00	\$16.50	\$6,369.00
19		DER BASE AGGREGATE CLASS 1	TON	130	\$14.00	\$1,820.00	\$18.60	\$2,418.00	\$23.00	\$2,990.00	\$23.00	
21		P 12.5 WEARING COURSE MIXTURE (2,8)	TON	180	\$56.00	\$10,080.00	\$88.45	\$15,921.00	\$70.00	\$12,600.00		
31	 	C CONTROL	LUMP SUM	0.04	\$20,000.00	\$800.00	\$4,050.00	\$162.00	\$20,000.00	\$800.00	\$4,050.00	\$162.00
37	2575.505 SEEDIN	IG	ACRE	0.6	\$2,500.00	\$1,500.00	\$150.00	\$90.00	\$150.00	\$90.00	\$150.00	\$90.00
35		NCHORING	ACRE	0.6	\$80.00	\$48.00	\$65.00	\$39.00	\$65.00	\$39.00	\$65.00	
39		1IXTURE 21-111	POUND	19	\$1.05	\$19.95	\$1.00	\$19.00	\$1.00	\$19.00	\$1.00	\$19.00
41	L .——————	MXTURE 25-142	POUND	27	\$4.25	\$114.75	\$3.10	\$83.70	\$3.10	\$83.70	\$3.10	\$83.70
43		MATERIAL TYPE 1	TON	1.2	\$225.00	\$270.00	\$135.00	\$162.00	\$135.00	\$162.00	\$135.00	\$162.00
46		D LINE PAINT	LIN FT	668	\$0.05	\$33.40	\$0.06	\$40.08	\$0.07	\$46.76	\$0.064	\$42.75
48	2582.503 4" BROI		LIN FT	45	\$0.05	\$2.25	\$0.06	\$2.70	\$0.07	\$3.15	\$0.064	\$2.88
-	1	Total SAP 041-613-027 CSAH 13 Minor	Grading and	Overlay:		\$32,106.85		\$41,700.28		\$37,065.61		\$43,097.37
	Total O/1 041 010 021 COTAL TO Hillion Change and Change											
	Total SAP 041-601	-032 (CSAH 1 Minor Grading and Overlay):				\$1,281,316.45	l '	\$1,333,019.76		\$1,432,149.72		\$1,482,393.06
	l	-027 CSAH 13 Minor Grading and Overlay:	-			\$32,106.85		\$41,700.28	-	\$37,065.61		\$43,097.37
		•			· ·	L	<u> </u>	•				
	Totals for Project S	AP 041-601-032	-			\$1,313,423.30		\$1,374,720.04		\$1,469,215.33		\$1,525,490.43
		roject SAP 041-601-032						4.67%		11.86%		16.15%
	Project: SAP 041-608-034 - CSAH 8M Overlay				Engineers Es	stimate	Duininck Inc		North Central		Central Specialties Inc	
Line No	Item		Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
CSAH 8			· ·									
1	2016.601 QUALIT	Y MANAGEMENT - THERMAL PROFILING	LUMP SUM	0.2	\$7,500.00	\$1,500.00	\$10,000.00	\$2,000.00	\$15,000.00			
2	2021.501 MOBILE	ZATION	LUMP SUM	0.14	\$120,000.00	\$16,800.00	\$160,000.00	\$22,400.00	\$70,000.00	\$9,800.00	\$165,113.50	
3	2221.509 SHOUL	DER BASE AGGREGATE CLASS 1	TON	371	\$23.00	\$8,533.00	\$24.20	\$8,978.20	\$32.00	\$11,872.00	\$33.86	\$12,562.06
4	2232.504 MILL BI	TUMINOUS SURFACE (1.5")	SQ YD	3898	\$2.00	\$7,796.00	\$2.50	\$9,745.00	\$4.75	\$18,515.50		
5	2360.509 TYPE S	P 12.5 WEARING COURSE MIX (2;B)	TON	1892	\$57.50	\$108,790.00	\$66.97	\$126,707.24	\$65.00			\$107,844.00
6	2563.601 TRAFFI	CCONTROL	LUMP SUM	0.14	\$20,000.00	\$2,800.00	\$4,050.00	\$567.00	\$20,000.00	\$2,800.00	\$4,050.00	\$567.00
7	2582.503 4" SOLI	D LINE PAINT	LIN FT	5390	\$0.06	\$323.40	\$0.06	\$323.40	\$0.07	\$377.30	\$0.064	\$344.96
8	2582.503 4" BRO	KEN LINE PAINT	LIN FT	871	\$0.06	\$52.26	\$0.06	\$52.26	\$0.07	\$60.97	\$0.064	\$55.74
-			Total	CSAH 8:		\$146,594.66		\$170,773.10		\$169,405.77		\$165,134.11
							1			J		
-	Total CSAH 8:					\$146,594.66		\$170,773.10		\$169,405.77		\$165,134.11
						I	·	1			·- ·	
	Totals for Project SAP 041-608-034					\$146,594.66		\$170,773.10		\$169,405.77		\$165,134.11
-	% of Estimate for Project SAP 041-608-034							16.49%	-	15.56%		12.65%
}	1.5 of Estimate 10/1				1	L .					1	·
	Totals for Contract	04-2020				\$1,490,475.46		\$1,575,575.34		\$1,672,671.10		\$1,724,562.85
	% of Estimate for C							5.71%		12.22%		15.71%
L	170 or Cosmittee for C	I	L			L	·	·				

Contract Bid Abstract fo	r Contract 04-2020
--------------------------	--------------------

Page 4 of 4

I hereby certify that this is an exact reproduction of bids received.

Certified By: _____ License No. _____